1. 2+D)(22+1D)@2*41)(284+1) =294 b o a-b 9] & F5lofzt.

2-1) & S8
2-1=10°]22 9] go] Halgirt.
2-DEe+DE@@+1(2* +1)(2° +1)
= (2 -2+ 12 +1)(2° +1)
=24 -1)2*+1)(28 + 1)
=(28-1)(28+1)=21¢-1
a=16, b=-1
a-b=16-(-1) =17
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(x+A)(x+B) =x>+(A+B)x+AB=x*>+Cx+ 8 °|B2
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w2t €= (148, 2+4,-1-8, —2-4)=(9, 6, -9, —6)
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(3x—2y+42)(2x + 2y — 4z) & AN5HAS W, xy, yz, zx ZH2H0] A9
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(3x — 2y 4 42)(2x + 2y — 4z)

= {3x = (2y — 4z){2x + (2y — 42)}

2y — 4z = AR XS5}

(3x—A)(2x + A)

= 6x% + Ax — A2

A =2y-4zE5 HYstHA

6x2 + (2y — 42)x — (2y — 4z)?

= 6x% + 2xy — 4xz — 4y% + 16yz — 162>

sxy,yz, ax O Ao 9t L 2416 + (—4) = 14
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a b c
- (a=b)(a-c) + (b-c)(b-a) + (c—a)(c-b)
@o @ 1 ® 2 @ 3 ® 4
S8
P= 2 + b + ‘

—-a -b —c
@-b)c—a)  (b-0a-b)  (c—a)b-0)
_ —a(b—-c)—b(c—a)—c(a-b)

(a=b)(b-c)(c—a)

—ab + ac — bc + ab — ac + bc —0

(a=Db)(b-c)(c—a)




—5y+4x-20]|A oJ# A& wjojof & A& F5ste] HHY x—2y+3
o] HQit}. old A o] ax+by+ 0|1, HFEA] Al4LRE Hol dx+ey+ f
A o, af — bd — ce 2] F-& Fotoet. (H, a, b, ¢, d, e, f £ 74F)
> =

> = 40
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HL2 7] A4S A2 5y +4x -2 - A

A% ALE AL

Sy+4x-24+A=x-2y+3

A=x-2y+3-4x+5y+2

A=-3x+3y+5

-3x+3y+5=ax+by+cOlBZ2

a=-3,b=3,c=5

A S HIEA| A4bet Aof didstdH

—by+4x-2-A

=-5y+4x—-2—-(-3x+3y+5)

=Tx—-8y—-17

whebA] HE2A] AARGE Fo] Tx -8y - T=dx+ey + f O|BZ
d=7, e=-8, f=-T

. af —bd - ce =21 - 21— (-40) = 40




